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MATH 2311-Quizz#2
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Question 1 Consider the curve r(t) = coshti — sinh £j + tk. Find the following

@ (a) The velocity v(t)
V) = Sinhk{ —~ ca,l\ic'aprk

) The speed |v(t)

O \*= \/Coshll--\-y\.\]\u.” -\/—&u)f\b

(c) The acceleration a(t)
@ alb = Cash kL «-Slv\\\bh—vak
(d) v(t) x a(t)
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(e) [v(t) x a(t)|
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f) The curvature k = T
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Question 1 Consider the function f(z,y) = In(z? + y? — 1). Find the following

@ (a) Domain of f.

D= {(X,m)\ Ve lj
b) Range of f
O (o, -o)

) Sketch the domain.
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@(d) Find the boundary of the domain

{Lxl \ﬂ) )( "\‘D = ’S
@ (e) Sketch some level curves of f.
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@ (f) Is the domain open or closed.
O \36\(\ -

@ (g) Is the domain bounded or unb;fl;d[
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Question 1 Find the limit or show it does not exist

(a)  lim ==t
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b lim 2y
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Question 2 Let f(z,y) = tan(zy). Find f;, fy, foz, fyys foy-

O Fo=ygselan) | fy=xsec () O
O Fre = 295 o )on biw)
© Fuy = 26 Sec s Yl )

@ ‘7(7(3 = Sccl(xs)—fz_XjSCLL(’(b)%n (X\g).




